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Note :

POLITICAL SCIENCE
PAPER -1I

This paper contains fifty (50) objective type questions of two (2) marks each. All questions
are compulsory.

Who said “Kautilya’s Arthashastra exemplified radical Machiavellianism, Compared to it,
Machiavelli’s Prince is harmless” ?

(1) Weber (2) Morgenthau (3) Waltz 4) Kissingenft 1
{ r
2. According to Plato, justice is : _ {
(1) Distribution of goods and services i - !
(2) Burdens and Benefits /‘J ‘} E
(3) Punishment and retribution / i
(4) One man one work, one class one dutyIlI ' .;'.
\/
3.  Given below are two statements, one labelled as Assertion (A) and the other as Reason (R).
Select the correct answer from the coﬂekgiven below f
Assertion (A) : Oakeshott sayggHdbbes is the greatest political thinker produced by the
English spea-léiﬁlg people.
Reason (R) : No other thinker can match his philosophical foundations and clarity of
thought.
Code : !i' -
(1) Both (A) and (R) are |true and (R) is the correct explanation of (A)
(2) Both (A) ind (R) are true, but (R) is not the correct explanation of (A)
~(3) (A)is true, but (R) is false
( (4) (A)is false, ut-'(R) is true
4. Hegel's dialecticllal method was :
(1) to build ascience of politics
(2) ¥ to accept the Enlightenment’s philosophical method
(3) : to assert that the methods of natural sciences and those of social sciences were identical
(4) to solve the problem of contradiction
st (11T : Faper
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Who distinguished the Young Marx from the Old Marx ?

(1)  Althusser (2) Lenin (3) Miliband (4) Luxemburg

Gramsci characterised Fascism as :

(1) Hegemonic revolution (2) Passive revolution

Ty

(8) Bourgeois revolution (4) Petit Bourgeois revolution 4

{
I’ r
Given below are two statements, one labelled as Assertion (A) and the other as Reason (R).
Select the correct answer from the code given below : :

r

Assertion (A) : Gandhi was critical of the material divilisation and particularly detested
the Industrial Revolution. /_.4' -

Reason (R) : He believed that Industrial R‘evolution was destroying deeper values.
\ I
| ¥

Code : I

(1) Both (A) and (R) are true and (R) is the correct éplanqtion of (A).

-

(2) Both (A) and (R) are true, but (R), is not the corfect explanation of (A).

(3) (A) is true, but (R) is false. 4

Vi
(4) (A) is false, but (R) is true.

i,

-

f
Roy - Lenin debate centred around :

(1) Dialectical Materialism (2) Marxist Theory of History
o
. (8) The Theory, of Surplus Value (4) Colonial Question

Deliberative Democracy is :
(1) A theory tilat champions exclusively Human Rights.
\
(2)Ik 4 A theory that puts forward environment as the most important agenda.

(3) A theory that concentrates on refining the familiar framework of liberal democracy.

(4) A theory that wants to usher in socialism by democratic means.

4 Paper-II
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10.

11.

12.

N-00217 ‘m”“"“"H

Why was behaviouralism shortlived ?
(1) Inability to evolve consensus

(2) Too much dogmatism

(3) It was a localised event

(4) Coloured by Cold War prejudices

Ty

&
{
Given below are two statements, one labelled as Assertion (A) and the gther as Reason (R).
Select the correct answer from the code given below :

Assertion (A) : According to Weber, comparative politics could be Comp;ehended within
the larger framework of culture, wh1ch he did by demolishing Marx’s theory
of economic determinism. {

Reason (R) : As without this rejection, hi:ga'/t-‘;’eory W:1$ totally untenable.
Code : rIIlI I _“I.

(1) Both (A) and (R) are true and (R) is the correc\ ‘e&planatJion of (A).

(2) Both (A) and (R) are true, but QK) is not the Corfec't éxI;Ianation of (A).
(3) (A)is true, but (R) is false.:.,«M {

(4) (A) is false, but (R) is trl}e

i,

Given below are twofstatements, one labelled as Assertion (A) and the other as Reason (R).
Select the correct answer fiom the code given below :

Assertion (A) y Institutional approach can help in mapping the landscape of politics.

' Reason (R) : (g—lhe goal of institutional approach is to reconcile the competing values of

dividual freedom and collective equality.

Code :

(1) . Both (A) and (R) are true and (R) is the correct explanation of (A).

(2)II‘ J Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3)  (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

| 6 Paper-II
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13.

14.

15.

16.

17.

18.

Which century according to Easton is “The Age of Scientific Method” ?
(1) Seventeenth Century (2) Eighteenth Century

(3) Nineteenth Century (4) Twentieth Century

Aristotle’s classification of constitutions was based on the categories of :

(1) who rules and who benefits from the rule {

(2) ways and means of perpetuating in power ..r‘;
(38) accepting the basic formulations of Plato’s The Republic i [
(4) to ensure rule of the majority {

{
Which one of the following countries follow a ;gm preg;dentlal systiem [
(1) Sri Lanka (2) Germany (3 Italy I (4) France

I
| |

Who challenged the established view that in Great B\?ﬁ’in the Conservative party was elitist
and leader dominated, while the Labour party was cha acterlsgd by a high measure of internal

democracy ?

A f
(1) Robert Michels ‘\ I (2) Robert Mekenzie
(3) Tony Benn 1 I (4 MoseiOstrogonski

Bureaucratic authoritarianism is a variant of :
[
(1) Military rule (2) | “Fascism (3) Communism  (4) Despotism
" 4
Which theory held that as societies developed they would become capitalist democracies,
converging around a'shared set of values and characteristics ?

(1) Dependency Theory (2) Structural Functional Theory

(3 s Modernizéltion Theory (4) Post-modernization Theory

|

|

19. Legifimation crisis as an alternative to Weberian approach to legitimacy was developed by :
(1) Miliband and Sweezy (2) Plekhanov and Lenin
(3) Camus and Sartre (4) Habermas and Offe

aoz [ IHEAVAVR AN 8 Faper
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20.

21.

22.

23.

Who said Revolution meant a drastic sudden substitution of one group in charge of the
running of a territorial political entity by another ?

(1) Hannah Arendt (2) Theda Skocpol

(3) Crane Brinton (4) Hubert Johnson

Put the following events in their chronological order and select the correct answier from the
code given below : /

Poona Pact, Third Round Table Conference, Swaraj Party, Communal AvYard, Nehru Report.
Code :

L

(1) Swaraj Party, Poona Pact, Third Round Table Conferenéf., Nehru Repért, Communal
Award - ' (

(2) Swaraj Party, Nehru Report, Commul}iff{ Awara',.Poona Pact, Third Round Table
||

Conference J .
| I

f |
(3) Poona Pact, Swaraj Party, Communal AwaJti, Nehru Report, Third Round Table
Conference

(4) Nehru Report, Third Round Table Conference, rSwat*aj ’iI’arty, Poona Pact, Communal

Award 4
« A
. <
Vi
Which of the following parties/groups the Cabinet Mission did not recognise ?
(1) The Muslim League (2) The Congress
(3) TheSikhs | | (4) The Princes Guild
‘4
- Which of the following come within the ambit of Article 21 of the Indian Constitution ?
(a) Right to shelter (b) Right to good roads
(c) Right to reputation (d) Right to pure drinking water

Select the correct answer from the code given below :

i
Co‘dc; :

(1) @ and (b) (2)  (a), (c) and (d)
(3) (@), (b) and (d) 4) (@), (b), (c) and (d)
ranzy [ IEHIIEAN 1
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21.

22.

23.
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24. Which of the following cases reflect on the elements of the basic structure of the Indian
Constitution ? Choose correct answer from the code given below :

(a) Indira Nehru Gandhi V. Raj Narain
(b) Kesavanand Bharti V. State of Kerala
() S.P. Gupta V. Union of India

(d) Minerva Mills V. Union of India

Code : i
(1) (a), (b) and (d) only 2) (@), (b), (c) and (d) L
(3)  (c), (d) and (b) only (4) (a), (b) and (c) only { F

25. When were the rules regarding Department Related Parliamentary standlng committees made

in India ? {
. L |i
(1) 1977 (2) 1981 (3)‘ 1982 (4) 2010
26. Which of the following state has a seat resqrved on the rbas1s of religion in the Legislative
Assembly ? -
(1) Goa (2)  Mizor 1;,{ :
(3) Jammu and Kashmir (4) Sikkim == /

Y f

27.  Which of the following pairs ie;l%ﬂ.:correctly matched ?

(1) Rolling Plan - - National Front Government
(2) 20 Point Programme - Congress Government
(3) National Commissioh to Review - NDA-I Government
the Working of the |
Constitutipn
(4) - National Rural Employment - UPA-I Government
Guarantee Act

28. Who among the following was not a member of the Sarkaria Commission on Centre-State

Relations ?
(1) Justice R.S. Sarkaria (2) G.V. Ramakrishna
(3). B. Shivaraman (4) Dr.SR. Sen

¥
w

29. Since when the Election Commission of India has become a three member body ?

(1) 1989 1990 (3) 1993 (4) 2001

N7 \IIHI“HHIIHI\IIH\I\HHII\IHHI\II||“|H||||\H||H|| 5
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T e 1 FANT H HE IR AT
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(b)  HIET< WAl S hicl T
(c) TH.UI. Tl SHM 9N G
(d) THal faew oM 9Rd g9 .
% : ¢ s
(1) %94 (a), (b) 3 (d) 2 (@), () () R (d) | [
(3) e (o), (d) 3R (b) (4) 9 (a), (b) ¥R ()
25. v # fovimii 4wt wad wrh a3 ar e e
1) 1977 2) 1981 ; 3) 11989 (4) 2010
26. ﬁwﬁf@aﬁﬁmmaﬁﬁwamﬁwéﬁz aﬁ%?ﬁnmw{&ﬁ%?
(1) e @ fomm S
(3) ST F HYHR Sl ﬁ:r%mrf
- «_'{
27. ﬁwﬁf@ﬁﬁﬁaﬁ?—wwﬁ%ﬁ%?
(1) =T hrishd (AfeT =) - U HrEl SR
2) 20 T FEIEA | J{ N ke
(3) wfaHmE i igdan 8 U I - WET-IEER
(4) e T ST RO s - JRT-ITWER
28, ﬁwﬁf@aﬁﬁﬁﬁﬁ%—wwa%ﬁwﬁwﬁma@ﬂwwﬁ on?
(1) . =FH(d A TH. LRI (2) S THF
() ﬁm‘—rl (4) ST U7
29. ﬁﬁqtm Y 9RA o G STERT &l T qe&d dre e s 721 ?
(1) 1989 2) 1990 (3) 1993 (4) 2001
ooz [T 1 Papec
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30.

31.

32.

4 @
ooz ||

Arrange the following peasant movements in their chronological order. Select the correct
answer from the code given below :
(a) Tebhaga (b) Champaran (c) Singur (d) Bardoli
Code :
1) (), @) (© (d)
2) (), (d) (@), (© { p
() @ @ 0@ : ¢
@) (@) (b) () @ :
" f
Which of the following approaches is the precursor of the Ecological approach ?
(1) Classical approach (2) uman R;],htions approach
(8) Systems approach 4) ,f';Beha\;iour_é:l approach
/
Match List - I with List - IT and selegt E\he correct ansrvé'r ?1‘0?n the code given below :
List - I - 1)‘.' List - II
(Theory) __h - (Thinker)
(a) Classical Theory @i  Elton Mayo
(b) Human Relatiohs Tﬁ{eory (i) Henry Fayol
(c)  Decision-Making Theory  (iii) V. Ostrom
, (d) Public éﬁﬁo}ce Theory (iv) Herbert Simon

coic: |

@ b o @
a 6 @ @) G
o ) G @) G
@) @ ) @) @)

) oH v G
ll

i

)
TN
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30. TrfafEd foram STicierl ol ST T8l HICTHATTER SFafeed Hifse | 1= fed T %2 | T8l W

T I
(a) TWET (b) =R (¢ for (d) SR
e :
1)  (b), @), (c), (d)
@) (b), (D), @) (o) y
() © @ ®) @ . &
@ (@, ®) () (@
31. frfafea § & sm-an wikfeafant Summ =1 gdedt § 2+ j Hi’
(1) TRERAT SUFTH ;ércv gy quq
(3) aTA SUFTH Eaazrrirﬂ
32. I - [ Gt - 11§ gAfeard &L aﬂ?@ﬂ@@@ﬂé?ﬁwﬁﬁ :
et - 1 A ff -
(fergr=) M ()
(a) T THgTL () TeA HA
(b) WME Gy rHesl'g ( (i) BT WA
(c) Taofa- ﬁnﬁﬁqm (iii) . 3T
J(d) ek qu-mv (iv) TS HIgHA
He :
@ (b) | ( (d)
(11 @ (i) (1 v) (i)
@ V(i @) @) ()
@) @ @ (@) (v)
4 @ @ Gv) ()
ooz [[[TRINETAND L
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33.

34.

35.

36.

37.

Who among the following has specified six qualities of an administrator / manager - physical,
mental, moral, general education, special knowledge and experience ?

(1) Fayol (2) Gulick (3) Urwick (4) Follet

Which of the following is an example of auxiliary agency ?

(1) Department of Defence (2) Department of Home f

(3) Prime Minister’s Office (PMO)  (4) Public Works Department 'f; )
f r

Which one of the following types of bureaucracy tend to exhibit a bias, towards party

interests ? , .

(1) Caste bureaucracy (2) Patronage burea:'llcraéy

(3) Guardian bureaucracy 4) Jlf}‘ifl’ing bu‘;eaucracy

Which of the following are excluded from the RTI Px}j

(a) Central Bureau of Investigation (CBI)

(b) Research and Analysis Wing (IQ‘AW

(c) Central Reserve Police Ff;% (CRPF)

(d) Prime Minister’s Office®(PMO)

Select the correct answer from the code given below :

1) @and(d) (@ @and® () @ GandE @) () and(d)

Which of the foﬁowing commissions/committees recommended that the financial year should

' be from ]anuary; E to,December 31 ?
(1) LK. Jha C ittee (2) Sarkaria Commission

(8) . Sixth Pay Commission (4) Second Administrative Reforms Commission

I
a

38. qugh one of the following types of training prepares future recruits for the public service ?
(1) " Iiformal training (2) Formal training
Pre - entry training (4) Post - entry training
N7 \IHII“ MR 1 Fapec
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33.

34.

35.

36.

37./

38.

frfafaa o 9 foem frdt womees / yeius ot o fasivan fafifes =t § - s, amfas, Jfass,
g1 faren, fafere Im oik e ?

(1) I () Tfaeh (3) sfa= (4) TRITRE

frefafed § & H9 He® TSH 1 Th eI § 2
(1)  an faym (2) & faum
(3) uM H3 e (f T W) (4) e FEfor faam (

Wwﬁmﬁf@aﬁﬁaﬁqmww%ﬁ%uﬁwm%?

(1) e e /ﬁama“‘mm“r %
(3) E&® AT (4) marﬂﬂﬁw@

ﬁwﬁ@aﬁﬁ%wwﬁwaﬁ:ﬁmﬁwﬁgﬁmw%?

(a) e e ol (W W o) Y ¢ ¢

(b) Few W Tt fam (W), ;;

(c) <hara Red gferw s (‘{:ﬁhmﬁrw)

(d) 9uME TR s (W T s

3 et T A W R T

(1) (a) ¥R (d), (2){ (a) 3T (b) 3) @ B () (@) (IR (d)
|

frafafea 4 9 _a@ﬂmﬁﬁﬁ%mﬁﬂaﬁ%%ﬁﬁaﬁlchflﬁMRHMWT:ﬁ?

(1) qa.aawzﬂﬁv (2) EIERIRAT SR

(3)-@aa-cr—raq1|aﬁn @) fgdfta gomafre gar smEm

t
oot & @ TR o YT §RT ek ol ¥q el el fohd ST &t ol SR fema i € 2

(1) et o ) Ao e
(3) How gd gfvrer (4)  To¥ qYET gireTor
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39.

40.

41.

42. ;

Which of the following statements are correct about the Central Vigilance Commission ?
(a) It was set up on the recommendation of the Santhanam Committee
(b) Itis a statutory body
(c) Itis a multi-member commission
(d) It exercises superintendence over the working of the CBI
Select the correct answer from the code given below : .
(1) (a) and (b) only (2) (b) and (c) only \
(3) (@), (b) and (©) (4) (@), (), ) and () €
{ r
Given below are two statements, one labelled as Assertion (A) and the othér labelled as
Reason (R). Select the correct answer from the code given below:: F

Assertion (A) : The expenditure charged on the Consolidated Fund of India is not subject
to the vote of Parliament. »

Reason (R) : It is in the nature of obligat?{‘y payment_ll.

Code : [ I

(1) Both (A) and (R) are true and (R) is the Correcx .planation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct gxpl‘énation of (A)
(3) (A) is true, but (R) is false %4 f
(4) (A) is false, but (R) is true™ ﬁ.{ -

Vi

Which of the following combination game theory utilizes to analyse strategic interaction
among decision - makers ?

(1) Mathematics and Réflson (2) Reason and Logic
(3) Logic and|Rationality (4) Mathematics and Logic
‘4

Consider the following statements with regard to MTCR :
(a) Chinais n:E a rlrrlember of MTCR

(b) ‘Indiaisa ;Illember of MTCR

(c) Aims at restricting complete rocket systems

(d)lk Pakistan is a member of MTCR

Select the correct answer from the code given below :

M @ ®)© )  (b) (D), (©)
®3) () (@), (d) 4 (@), (®) (@
ranzy [ IEHIIEAN s
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39.

40.

41.

42.

N-00217 "H“H”"HM

frefefad o @ ®H-9 e g Hashal STET & o H & § 2
(a) THH! TYAT G-ATH HH i FHoRTE W & 1 of |

(b) % T Fifafeswk Feme T

() T 3Teh TS ol T ST & |

(d) ¥E Her ST S (S ME) F HE H wHALT HIT T
e A T P ¥ WE ST B =TI R

(1) %9 (a) 3R (b) (2) e (b) 3 () g
(4) (@) (b) ¥R (9 ) (@) (®) (© () , .

T < e fed T E, T w1 ifeRe (A) 3R T @ Ak (R) a@w%l i fed T e
TN Y el S G

AR (A):  IRA i Giaa ffy W aifa == é&ﬁﬁéﬁ?%ﬁ'ﬁé%l
e (R) : THR T SR YA <l 2| |

< r,! J
1) (A) 3R (R) I T T 3R (R), (A) F1 F& 7

2) (A) R (R) I W T, AT (R), (A) FT & T TR |
(3) (A)FAE W (R)swATI N (

(4)

4)  (A) 3HA T, W (R) T TN, _‘-{
J'

ﬁm’mﬁ@&gaﬁ:{WH@@Q%MH%ISHQII'@HF{%&M‘I(ﬁﬂ@ﬁ)ﬁﬁ“ﬁmﬁmﬁ%@ﬂ
Wﬁmmwﬁs@w*v@@mmwm%?

(1) ora i o | ( (2) HRO R qH

(3) T IR Ffaarerehdl (4) TIford R Tk

T 3 G R ok W et wmel w faem e

(a) = wH 2 Gl R G T R

(b) 9RG wH & T 3R H WA T

() R e YUt ke WOt Y T B § |

(d) TfeReaH T & Gt TR 1 e B |

= fo T Fe I WE SR w1 T HINT

1) @, ®) © 2 (b), (@) (9
3)  (b), (o) (D 4)  (d), (b), ()

AR 1
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43. Which one of the following is not a criteria of just war ?
(1) Be authorized by a sovereign prince
(2) Be proportionate
(3) Be pursued for just intent
(4) Dbe undeclared
44. Whose Presidency in America was marked by ‘war on terrorism” ? {
(1) George HW Bush (2) George W Bush Jr /
(3)  Bill Clinton (4) Barack Obama r { 2
45. A unipolar condition to which George W Bush ]r referred as a balance of power that favours :
(1) Security (2) Cooperation (3) Peace : .(4) Fréedom
g L E
46. Match List - I with List - II and select the Corrigff answers from the code given below :
List - I / List-11 | '
(Authors) [ (Bo ks)
(a) Andrew Linklater @) Cooperatlo(:! rR’(der Anarchy
(b) F. Clark (i) The transformation of*political community
(c) Kenneth Oye (iid), Genderlng WfSrld pohtlcs
(d) J.A. Tickner (1‘{) Hegemony in' International Studies
Code : 1 .i.
@@ (b) (9 (d)
M G 6 Gv) G
@ @) @ 6 6y
@) @ Gy 6
@ () @6
|
47./ Given below aréftwo statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Seler’xh'e correct answer from the code given below :
Assertion (A) : /India is seeking permanent membership of Security Council of UNO.
Reason (R) : | India is a nuclear power.
Code :
(l)ll't Both (A) and (R) are true, and (R) is the correct explanation of (A)
(2)m " Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) (I&) is true, but (R ) is false
(4) ) is false, but (R) is true
N7 \IHII“II\HI\HH\HHH I 2 Fapec
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43.

44.

45.

46.

47.

= & | 1 A g5 1 Th AUEUS ol § 2
(1) w9y TTFR 5N AferHd 2

(2) TR B

(3) =AFETd 329 * for foman S

(4)  STeNfeR B

ST H form gfa & Friee & STddars & favs @erk’ o QR o &9 H S 911§ 2

(1) S T e 9 (2) S S 9 SRR P
@) foar foie (4) R ST (

Toh Ty Rl forent Seerd STel geee] 99 SR 3 AR o e o §9 H fohall TS0 fermredt @ -
(1) T (2) wEE (3) wifdd o ~4) T
g ™ L E
TR - 19 gt - 11 gifera ¢ iR 191 fodl 1 e § o R bt = e
et - 1 Jaet - J
[ (T,r’;g /
()  broRem W
() < ZEEEYE ATh qidfse FEff
FAe 3™ (i) (et ae dffareea
(i) T T TR wE

(a
(b
(c
(

“ 4 4
1

P
A
!
v

d
%< : b

(
(
(
(
ﬂ%aﬁﬁmﬁﬁﬁ@%wﬁaﬂmaﬁw 3R g &I Teh (R) el T 81 9 8 ™ fe

1)
2)
3)
4)

! 9IRS ”

USRI (A) :  YRA HIF TP T hi FR&N IRUS o TRA T 1 =1edl & |
e (R) : | VI T AT ifeR P T 8 |

RE - |

1), (A) 3R (R) S & €, 3R (R), (A) F1 & T ¥

2) 1 (A) 3R (R) T F €, W (R), (A) FT & TR T ¢

3) (A) ¥ A R, W (R) 39A T

(4) (A) 39 &, WY (R) T B

(
(
(
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48.

49.

50.

Match the List - I with List - IT and select the correct answer from the code given below :

List - I List - II

(a) Nixon doctrine (i) Support to anti-guerilla movements
(b) Kennedy doctrine (i) Pursuit of peace through a partnership with allies
(c) Reagan doctrine (iii) Intervention to prevent genocide
(d) Clinton doctrine (iv) Foreign policy initiatives towards Latin America
Code \ p

@ b © @ ¢
M 6 G @ G ;
(2) @) @@ (@) @) : v
G) Gv) @@ @) / "
@ @ @ 0 G | |

iii) 2
A

f |
Consider the following statements with regqlll'ld to Non aﬁgned movement.
(a) Julius Nyerere was one of the foundin:g memb r:f;f NAM
(b) India hosted seventh NAM summit
(¢)  The seventeenth NAM summitiyas held in Veqéz:l(;la

(d) The headquarters of NAMais i Belgrade

F
Fd

Select the correct answer fromlthe code given below :

(1) (a) (b) and () (2)  (a) (¢) and (d)
(3 (and () = . (4)  (b) and (d)
f
w |
Which one of the following is not part of “Three Pillars” of R2P (Responsibility to Protect) ?

(1) If a state fails to protect its population, International community take collective action
in accordanfe with the UN Charter

(2) Itis state’s fesponsibility to protect its population from four mass atrocity crimes

(8) Itis the responsibility of International Community to protect people from crimes against
~ humanity |

(4} International Community’s responsibility to assist individual states in meeting the
| responsibility

-00o0-
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48.

49.

50. 4

anzy [N 2

Tl - [ &1 G2t - 11§ gAfad o iR = fSu 7Te e & 92 S0 &1 =9 &8

Tt - 1 T - 11
(a) e fagrm () TR foiedt eTidier w1 wmeH
(b) kel fagr (i) T3 TP % Wy WrieRT g1 Wit 1 gAE
() T fagm (i) X HER Uk o TEI&T
(d) e fagr (v) Sfe-smfa wi ¥ v ke i = ved ;
%< {
@ b © @ ‘ :
1) @ @) @v) (i)
(2) (@) @ (@) @) i 'i
@) (v) @) @) (@)
@ @ @ O G If ",-

ﬁﬂza@m%waﬁﬁw@fmwﬁmﬁw
qmmﬁﬁﬁ?mﬁ(%)%ww%m

(a)
(b) 9Rd 7 Fdl 79 e S i Fegrt w1 f
() el S e e e demifaa #1 o
(d) ﬁnwwé@gﬁ.%‘ﬁ
s fom T g2 @ v S g
(1) (a), (b) IR () { !{ 2 (@), () ¥R ()
(3) (b) 3R (o) 4) (b) 3R (d)
|
frfafed § § #g R 2 0 (TRa &1 1) & i Wl e TE e

(1) afE T ST SHEEAT I T YSH A | fawhel wam &, @ g TR Hgad g T
o T o TR HHfeh Harg HT |

(2) I T H I § FF o8 S0 SHE il IR Afesh STATER STIRIe T 9 TRET0 Je Y |
(3f~ T SRAGE ST k1 oA ¢ foh o8 HHed & foeg 7ol ¥ ST 1 S0 HeH R
(4)

Yk T5F o QMIcd o Feg H 39eh! el 7q SRS W™ i I |
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